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1) The inverse Laplace transform of F(s)=

3 can be denoted as

525452
S @) =L {F(s)}. Please compute the value of f(f) at the time ¢ = 7 . That is

to find out the value of f (7). (25%)
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2) Let A=(AD.)= =9 1 2| be a 3x3 matrix. If A, A and A, are its
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cigen-values, please find out the sum of these three eigen-values. That is, please

compute the value of 1, +4,+4,. (25%)

2
3) A particular solution Y(x) of the differential equation x? % + x% +9y=x

. .. 1 dy 1 . 1

tisfies the conditio D=— d =0)=—. That , y=— d
satisfies the c ions y(1) 0 an dfx() 10 is, y 10 an
?é = % at the point ‘x =1. Please find out the expression of y(x). (25%)

4) There are two points 4 and B in the plane. The coordinates of 4

are (x,y)=(l,%r) while those of B are (x,y)=(l,§). A path T' connects

A4 and B, and it is described by the equation x=(siny)’. Compute the path
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integral  J= [PdvrQdy i P=l 2 O=—++y.
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Note that the integration is carried out along I' from point 4 to point B.
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